CBSE Class 12 Geography Compartment Question Paper 2019 (July 2, Set 1- 64/1/1)
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e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(1) There are. 22 questions in all.
(11)  All questions are compulsory.

(111) Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

(V) Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

(vi) Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

(vit) Qutline maps of the World and India provided to you must be attached
within your answer-book.

(viit) Use of templates or stencils for drawing outline maps is allowed.
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Qusg <h
SECTION A

1. 9Rd < fheal e Y= TR o 9 fRgu |
SOE
YA o Toheal @l HEIhIAE TR o =19 fdfgu |

Name any two ancient towns of India.
OR

Name any two medieval towns of India.

DN | ~
+
DNo| ~
||
P~

Do |
+
DNo| M~
|l
P~

2.  3ThIhl U SIT-SEST dfell Ui § HoH G BH o &I SRl I avaiyol
hT1TT | 1
SO
JTYATH 3T IcTAH H 3T T HIT | 1

Analyse the main reason for dense population in ‘Katanga-Zambia
Copper Belt’ in Africa.

OR

Differentiate between immigration and emigration.

3.  UdgTioeh 7 Yeahl hl &1 JAThiNd hid & ? 1

Why do historic towns attract tourists ?

4. HUR H e 1A ST I9cd dTd <31 bl 91 TARgu | 1

Name the country that has the highest density of rail network in the
world.

5.  RIUARY =Y YW qAT TR I =¥ YH H I TS HIT | 1
HAAT
oo qfis FR qo og qfy F F st Te HRAT | 7
Differentiate between ‘Culturable wasteland” and ‘Barren and
Wasteland'.

OR

Differentiate between ‘Dryland farming’ and ‘Wetland farming’.
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6. sfeu Tl 98t e &7 H 3IW0 et U qAiauiia guE hi W@ Hifau | 1

Examine any one environmental problem that emerged in the Indira
Gandhi Canal Command Area.

7. 39 yraEn &1 AW foflgu few wiRd i sHEea i dig g dR-4R Ag 7@ @l
2 | 1

Name the phase in which the growth rate in the population of India is

slowing down gradually.

Qus @
SECTION B

8.  F9-[HY=¥dIg shl Heheudl {ohE T&d hi ? Hd-HI=HaTg shi HehoUdl i fohal al
ferRIvqISAl A1 U HifT | 1+2=3

Who introduced the concept of Neo-determinism ? Describe any two

features of this-concept of Neo-determinism.

9. Toavd AR HTaA (s E1.311.) shl TeA=AT AR forier o1 foram T 3 2 Toheaii

19 ShIUTT <hl €qsE hITTY | 1+2=3
SOEC|

T Gl (U2 7T HI9R) s YR W Iiichd i YehR o FHg1 G-l <hl

T hITT | 1x3=3

Why has World Trade Organisation (WTO) been criticised and opposed ?

Explain any three reasons.

OR

Explain three types of seaports classified on the basis of cargo handled by

them.
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10. U 7T AW 1 AEgFIgEs e HIT AR Ik e T T I3 o W

1+1+1=3

(10.1)

(10.2)

(10.3)
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GRCIG AT 1 Thes e 103 ERC 1 A Y [ T .-.-p.:l.u.l:ld-ll:'

39 ART Ud S99Td 933 o (78 WIS b Aldl ol 3¢9 <hiiag |

I8 TGl U SETd T3 Tohd Tep 3TTenfirer foeptd o1 STTYR ¥R i T
22
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Study the given map carefully and answer the questions that

follow :
Iron & Steel Plant
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(10.1) Identify and name the iron and steel plant shown in the map.

(10.2) Mention the sources of manganese for this iron & steel plant.

(10.3) How does this iron and steel plant form a base for industrial
development ?

FIZ :  [HHIIREd J99 $eci GRETIET Ghemidat & 678, 397 &7 10 & € T &

Note: The following question is for the Visually Impaired Candidates only,
in lieu of @. No. 10 :

AlEl Ud $TqId I ohl A AN AT hal Idl g ? 3G digd TIe
cﬁfﬂ? I IX3=3
Why 1s the iron and steel industry known as ‘heavy industry’ ? Explain
with examples.

11. FUSET SR o Yo gR o &9 § YRA THg! IoH1 shl YiHeT T JodTehd
<hITTT | 3

Evaluate the role of Indian sea-ports as international gateways.
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3T ToTRaT : I1+1+1=3

E 00 029 1069 1072 1062 1051
. 1000- - R
= s00 1 1 =
A 1
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feted 1El Sa A9Td heie =Eiicis
(12.1) 3@ foept¥a @ =1 99 fafgw, &l TR & 4 "diits g

IGAICEIGRCIRINS I
(12.2) ?Hﬁ%lﬂ?ﬁﬂ%{ﬂﬁmﬁﬁﬂﬁw AR fRTHITd T ST
7
(12.3)  Toh® Toehi¥ra <1 | TTHIOT &1 § Ta[iere Jidehal ol IdTd 9T ATl & 2

Study the diagram given below carefully and answer the questions that

follow :
N 10321087 1069 1072 1051
& 1000 o 9387 Ml Urban
E - 7 Z Rural
§ 300- g % g
= 600- B Z Z
: 1 ¢
2 400- ZH Z Z
ks 1 7
3 200 g g g
7 Z
oh Zimbabwe Cana Brazil Nepf;;‘l/l Finland New
Zealand

(12.1) Name the developed country which has the most favourable
sex-ratio in urban areas.

(12.2) Which developing country has the most favourable sex-ratio in
rural areas ?

(12.3) Which developed country has the most unfavourable sex-ratio in
rural areas ?

64/1/1 7 P.T.0
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FIZ :  HEITRET 997 el FIRATIST Themiaar & o170, 397 &7 12 & T W &

Note : The following question is for the Visually Impaired Candidates only,
in lteu of @. No. 12 :

TER o S <3N § THTHUTT HigATAl o Jidehdd F1 8 ? TIC iy | 1+2=3

Why 1s the sex-ratio unfavourable to women in some countries of the

world ? Explain.

13. | TorehTd o Teh WSl 0¥ o &9 H Hdd IUEAr shl HeheqdT shl HedTehH
$ITT | 3
YT
qHd fahmE % g8 HE@qUl ¥l H H Th GHAT shl GehoUdl I HodTehd
<hITST | 3

Evaluate the concept of ‘sustainability’ as a strong pillar of human
development.

OR

Evaluate the concept of ‘equity’ as one of the most important pillars of
human development.

Qus T
SECTION C

14. HER H Y=icid UG HN hl foheal qi= Toreivdrsti shl A hifa | 1x5=5

Explain any five features of ‘plantation agriculture’ practised in the

world.

15. “GER °§ 98 YHHE & 3 I AqAl i 3w Huifd i 8 |7 39
A hl gfsd HIT | 5

HAAT

“FER W 4 fafmie ST § 3w il Td9iHag diel 8 | 39 Y i giee
$ITT | 5

“Locations of large scale industries in the world are determined by

several factors.” Support the statement.
OR

“High technology 1s the latest generation of manufacturing industries
across the globe.” Support the statement.
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16. WHS GETYAT ST G R ThIT AT IMET 2 Yd § Wi GH19ET o T8I0 <6
forral 9 adienl shl =T ShIfT | 2+3=5
SOCI

“AIITA Holl & Fid Afeeh [Eh1s ITREATTH-3hd 3T &l Sl 3Uctey
HUd g |7 IUTth TSN digd 39 HYF hl s hifT | 3+2=5

Why should mineral resources be conserved ? Explain any three ways to
conserve mineral resources in India.

OR

“The non-conventional energy sources provide more sustained,
eco-friendly form of cheaper energy.” Support the statement with suitable
examples.

17. YRAHE I ST o HEwd U9 369l hi SIEAT hitaiT | 3+2=5
TET

“ITUE HER s qiiehl O Tewqol Yfteer fam @1 R |7 39k 3eewn dfed 3|
YA hl gfte hINT | 2+3=5

Explain the importance and achievements of Indian rail network.

OR

“Satellite communication is playing an important role in several ways.”
Support the statement with suitable examples.

18. foehrasiicl <@ | UTHIOT Sfeqal sl Tohral dId Ig@ THEATS ol Ui shitall | Ix5=5

Describe any five major problems of rural settlements in developing
countries.

19. 9RAd H S YUY s ShIUTT Td Yl 1 fageiwor Shifg | 3+2=5

Analyse the causes and consequences of water pollution in India.

20. WRd H HHI Tk YAheh hl HoATohd 4 H WEY Slgd ddT HHIN
TRTheh U1 hl YHEhT T HTITIT HITT | 3+2=5

Analyse the role of healthy life and social empowerment in assessment of
Human Development Index in India.

64/1/1 9 P.T.0.
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21. HER % U U TSHIAeh @I-AFARS (I8 13 W), § 9= YT A&l ol
A, B, C,D 3R EH fc@rm T 8 | 3eh! 989 HHfIRgd MR <hl #eg |

I 3T 39eh HEI ATH 3eh U1 @il g {@T3l T ToTRaT 1x5=5
A, AU 91 9T

B. 9qQ@ HHgl 97

C. THalgT 9ugu sl Ush Y@ &

D. #m &

E. 3 9

On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct
names on the lines drawn near them :

A. Aninternational airport
B A major seaport

C A major area of subsistence gathering
D. A mega<ity
E

Anindustrial region

FIZ :  FAEIIEd F99 T FIRETIET Thentdar & c1g, 37 geqr 21 & €A
WE

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) I o forel T @ Y51 g 1 9 forlgu |
(21.2) UM o fehel Teh AU I I bl M foilgu |
(21.3) eferor smitent o fohelt v 5 o1 A feafaw |

(21.4) I ITHNERT o Teh MNNh Y T 919 ARG |
(21.5) 3ThIehl o @ Halad UG & i A0 gy | 1x5=5
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22.

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

Name any one major seaport in Europe.
Name any one international airport in Asia.
Name any one mega city in South America.
Name an industrial region in North America.

Name the major area of subsistence gathering in Africa.

R o QU U TaHIfae War-amHt=a (98 15 W), | Hefcfad 5 9 fag? grer

TTITeTeh ALIUT bl C@TET 3T 3Ieh AW TRET :

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)
(22.8)

1x5=5
TSI 1 Th g 3IEh @H

I8 TS SoH ATET=l shl 9 1 9ed 319 3

19 BT U IcqTGh TS

31T 1 Teh AQUST I Yo

e W] 1 Teh TIFCAIL SaIcTlsil UTeh

TSI 1 Ueh dol YA ShREM

8 TS oaH TR i Tl T9d A 8

gieofl Yo Huse 1 geATerd

Locate and label any five of the following geographical features on the

given political outline map of India (on page 15) :

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)
(22.8)

a1 A Y 1 g B0 R A DY | T by B R G A 1Y
3 =
g B
- -
2 3
5 3
= T
= ]
GRCIG AT 1 Thes g 1 BT U P | T hcey i R 1 Y v

An Iron Ore mine in Odisha

The State with the largest number of immigrants
The leading producer State of rice

An international airport in Assam

Software Technology Park in Madhya Pradesh
An Oil refinery in Gujarat

The State with lowest level of urbanisation

Headquarter of Southern Railway zone

11 P. T,
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Tz: Bk e Fae FaTRE qhenfort % o7, Y GE 02 % w9 W
8 | faegT uier 391 & 3% v |

The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 22. Attempt any five questions.

Note :

G o Th s e Bkl PR Y § Thiso re GEERG 1
=
o
=
-
GG A Y | Thino g SR HIBARY {1 h e raaSk oG

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)
(22.8)

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)
(22.8)

AR
-
-
S
=
v
-t

A

3ITH o AT I I ol A9 TIRdy |
ALY YTl o HTFEAIL SaTATSI UTeh bl ATH fiRgU |
TATHE o Ueh dig 37Eh @H &1 a1 g |

39 TS o1 AW Tofge, foed styanfaen & g a9 31fees 8 |

g oh UM IcqTeeh UsH ol A1 Ray |
TSRId h Tohdl Teh dcd IMEH @M &1 9119 TIay |

gfeqult o1 AU & &A™ o 9 fiRgu |
TR o T8 T & 9Tl TS hl 9H fIRgu |

Name an international airport in Assam.
Name a software technology park in Madhya Pradesh.

Name aniron ore mine in Chhattisgarh.

Name the State with the largest number of immigrants.

Name the leading producer State of rice.
Name any one oil refinery in Gujarat.
Name the headquarter of Southern Railway zone.

Name the State with lowest level of urbanisation.
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I 9. 21 & AU

For question no. 21
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L et
I3 9. 22 o ToTu For question no. 22
YA h1 {@T-ATH AT (TR )
Outline Map of India (Political)
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